Huw Bennett 9X1 Mr. Ball

How I scored the Guesses

The person with the least points wins. The number of
points they get is how far away the median of their guess
is and what their range of guess 1is added together to
make their final score.

1. 8kg is how close the median is to the weight and 20 is
the range of the guess, therefore person one gets 28
points.

2. 0.5kg is how close the median is to the weight and 25
is the range of the guess, therefore person two gets 25.5
points.

3. 26kg is how close the median is to the weight and 52

is the
range of their guess, therefore person three gets 78

points.

4., 4.5kg is how close the median is to the weight and 5
is the range of their guess, therefore person four gets
9.5 points.

5. 3kg is how close the median is to the weight and 0 is
the range of their guess, therefore person five gets 3
points.

Scoreboard

‘1st jPerson five. ]3 points. N
"2nd iPerson four: i9.5 points.

éf&" ‘Persoﬂ_zagl _ ‘25.5 points. ‘
4th 'Person one. 28 points. N

5th [P?rson three. 578 points. W




